* 1vr . CBSE 2013 ALL INDIA EXAMINATION
& eVidy arth! [Set 1 With Solutions]
F%é])é(: Efiaur?(%n:oliloo Time Allowed : 3 Hours
SECTION - A
QO01. Write the principal value of tan™ (\/g )— cot_l(—\/g ).

Sol. tan™ (\/g )— COt_l(—\/g ) =tan ' tan % —cot™! (—cot%)

= =2 _cot'cot| z-Z [Range of tan™" : —E,Z ,cot ': 10, 7]
3 6 2 2
T 4 5 7 bx V4
= =—-—cot cot—=——-—=——.
3 6 3 6 2
QO02. Write the value of tan™ {2 sin [2 cos™’ % } .
Sol. Let Y=tan" {2 sin [ZCOS_l %H =tan™ 251'11[2(:051 Cos%ﬂ
—tan| 2sin| 2xZ || =tan!| 2sin| Z | | = tan™! 2x£
6 3 2
—tan'/3 = tan™! tan%
nY=2Z
3
0o 1 -2
QO03. For what value of x, is the matrix | -1 0 3 | a skew-symmetric matrix?
x -3 0
0o 1 -2
Sol. Let A=|-1 0 3 |.Since A is skew-symmetric matrix, which means A =—A".
x -3 0
0 1 -2 0o 1 2] [o 1 2] [0 1 =-x
/-1 0 3|=-|-1 0 3| =|-1 0 3|=|-1 0 3
x -3 0 x -3 0 x -3 0 2 -3 0

By equality of matrices, —x =-2 = x=2.

1 -1
Q04. Ifmatrix A = { } and A” =kA , then write the value of k.

1

Sol. Given A= } and A’=kA = A.A=kA.

X
{ 11}{ 1 } {1 _11}:[—1:—11 _11+_11}:k{—11 ﬂ
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Vﬁlﬁ:ﬂi differential equation representing the family of curves y =mx, where m is an arbitrary

constan
FR&E EMiedadveny = mx (D)

. - . dy d dy

Differentiating w.r.t. x both the sides, —~ = —(mx) =>-—*=m
dx dx dx
= d_y =Y [By using eq. (i)
dx «x
This is the required differential equation.
2 3 5
Q06. If A; is the cofactor of the element a; of the determinant (6 0 4| then, write the value of
1 5 -7
a,.-A,.
2 3 5
Sol. Wehave |6 0 4].
1 5 -7
3+2 2 5
oAy, AL, =5%(=1) =-5(2x4-6xD5)
6 4
ie, .. a,. A, =110.

Q07. P and Q are two points with position vectors 3a — 2b and 4+b respectively. Write the position vector
of'a point R which divides the line segment PQ in the ratio 2:1 externally.

Sol.  Given OP=3i-2b, OQ=17+Db. Also R divides PQ in 2:1 externally.

R - 2(0Q)-1(OP) _ 2(d +b)—1(3d — 2b)
N 2-1 1
ie, OR=4b-d.

Q08. Find | x|, if for a unit vector a, (X —d).(X+d)=15.

Sol. Given (¥—4).(X+d)=15 =iX+X¥d-ax-adi=15 =lxP+xa-xa-1al=15
=X P —(1)* =15 =X P=15+1
=X |=+416 SLxXl=4.

Q09. Find the length of the perpendicular drawn from the origin to the plane 2x -3y +6z+21=0.

Sol.  The length of the perpendicular drawn from the origin (0, 0) to the plane 2x -3y +6z+21=0 is:

- |Ax, + By, +Cz, + DI .
_ 12(0) - 3(0)+6(0) + 211 [Using p = x, + By, +Cz, nits
J22 +(=3) +6° JA?+ B2 +C?
ie, p= Lunits =3units
T 449436 '

Q10. The money to be spent for the welfare of the employees of a firm is proportional to the rate of change
of its total revenue (marginal revenue). If the total revenue (in %) received from the sale of x units of a
product is given by R(x) = 3x* +36x + 5, find the marginal revenue, when x =5, and write which
value does the question indicate.

Sol.  We have total revenue R(x) = 3x* +36x +5

So, Marginal Revenue = Rate of change of total revenue function
ie., :di(3x2 +36x +5) =6x + 36
X

.. Marginal Revenue when x =5 =6(5)+ 36 = 66.

Value indicated : gloteidatAfateramBlsaRIstHarh An e Aok, L0RkG il pe the money spent for the
welfare of employegset CBSE Notes, Video Tutorials, Test Papers & Sample Papers




e\yi dy al‘th 1 SECTION - B

RkE EGonsider f:R, —[4,0) given by f(x)=x+4. Show that fis invertible with the inverse f ' of f
givenby f~ (y) =,/y —4, where R. is the set of all non-negative real numbers.
Sol.  Given f:R, —[4,0) definedas f(x)=x"+4.
For one-one : Let x,,x, e R . We have f(x,)= f(x,).
e, x{+4=x2+4 =x'-x =0 = (v, —x,)(x, +x,)=0
=(x,-x,)=0 =X, =X, [+ x,+x,#0 as x ,x, eR,
So, fis one-one.
For onto : Let y €[4,0) and y = f(x).
Ly=x"+4 Sy-4=x = x=%y—4
=>x=,y-4 [xeR,
Clearly, xeR_ forall y €[4,0).
Thus, for each y €[4, ) there exists x = ,/y -4eR,.
". fis onto function.
Since fis one-one and onto function, so it is bijective function and hence it is invertible.
Also f7:[4,0) >R isgivenas f(y)=+y—4.
Q12. Show that : tan[%ﬂ B 3j 4-V7 . OR  Solve: cos(tan' x) = sin(cot’1 gj
Sol. LHS:LetY = tan(—sm j
Put sin‘lg—x:mmx—E = COSX = 1 sin’ x = i V7 ...(0)
4 4 16 4
sm(;j ZSm(;jsm(;j 2sin’ (;j
Now Y = tan( j =
X X X sinx
— |sin| —
7
1-cosx 1° \{L_
= == [By ()
sinx )
4
= 4 _3\/; = RHS. [Hence Proved.
OR
We have cos(tan™" x) = sin (Co’c1 %J
— cos| E—cot™ x | =sin| cot > [“tan'x+cot'x="
2 4 2
. 1 . 43 -1 -1 3
= sin(cot™ x) =sin| cot 1 = cot x=cot 1
3
LXx=—.
4
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QVIdyarthl X x+y x+2y

Using properties of determinants, prove that : |x +2y x x+y =9y (x+y).

F EE Education

Sol.

Ql14.

Sol.

QI5.

Sol.

x+y x+2y x
x xX+y x+2y
LHS: Let A =[x +2y x x+y
x+y x+2y x
3x+3y x+y x+2y
= =3x+3y X xX+y [Applying C, - C, +C,+C,
3x+3y x+2y x
1 x+y x+2
= =(3x+3y) X xX+y [Taking 3x + 3y common from C,
x+2y X

1
1
1 x+y x+2
0
0

= =(3x+3y) -y -y [Applying R, > R,-R,, R, > R, —R,
y o2y
1 x+y x+2y
= =Bx+3y)(y)*l0 -1 -1 [Taking vy common from R, & R
0 1 -2
) -1 -1 .
= =y"(3x+3y)| 1x 1 5 [Expanding along C,
= =y Cx+3y)[1x(2+1)]
= =9y*(x+y) =RHS. [Hence Proved.
2
If y* =", prove that dy _ m.
dx logy

Given y* =¢'™"

Taking log on both the sides, log(y*) =log(e’™) = xlogy=(y—-x)loge=y—x [-loge=1

Sx=—w2 [Differentiating w.r.t. y both the sides
1+logy
dy d 1
1+1 oy (1+1 1+logy).1-y| 0+—
_:( ogy)dy ydy( 0gY) jd_x:( 8Y) y( yj
dy (1+logy)’ dy (1+logy)?
2
= dax = —log Y > d_y = (+logy) logy) [Hence Proved.
dy (1+logy) dx logy
2x+l 3x
. . o1 . .
Differentiate Sin | —————— | with respect to x.
1+(36)"
. -1 2x+1. 3x P 2 X 2x. 396 « -1 2 X 696
Let y=sin | ——— > y=sin | ——— > y=sin | ——
1+(36) 1+(36) 1+(6)
= y=sin" (ﬂ] , where 6" =tan = 0 =tan "' 6"
1+tan
Sy= sin*l(sin 20)=20=2tan"' 6" [Diff. w.r.t. x both the sides

dy 5 Educational MaterlallDownIc@ded from http://www.evigjgrthi.in/ 2
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’f eVi dwg 2.2%. 3" log6] - 23" (log6)

FREE Education

Q16.

Sol.

Q17.

Sol.

1+ 36x>
\/1+kx—\/1—kx

Find the value of &, for which f(x)= x
2x+1

x—1

dx  1+36x 2

,if0<x<1

2

d’y
dx’
Since f'is continuous at x =0 so, linol f(x)=f(0) (1)

2(0)+1 _
0)-1

OR If x=acos’0 and y=asin’6, then find the value of —-

w, £(0)= ...(ii)

\/1+kx—\/1—kx

And, LHL (at x=0): lim f(x) = lim
x—0" x—0"

,if —1<x<0

is continuous at x =0.

at@——.
6

= lim

\/1+kx \/1 kx \/1+kx+\/1 kx

0 x \/1+kx +1—kx

i (k) —(1—kx)

x>0 X J1+kx +41—kx

=lim 2k :2—k:k
x>0 \/1+kx+\/1 kx 2

By (i), (i) and (iii), we have : k=-1.
OR

We have x =acos’0 and y =asin’0

Differentiating w.r.t. O, ax = i(a cos’ 0) = -3acos’0sin 0
do do

And, ay_4 —(asin’0)=3asin’0cosO  ...(ii)
do  do

So,d—y:d—yxd—e:3asin26cosex 12 =—tanO
dx dO dx (—3acos” 0sinO)

Now, 44y —i(—tan6)=—sec26x@
dx\ dx dx dx

2
d—yz—seczex 1

dx* (-3acos’ 0sin0)

S dy 1 ><sec‘le
" dx* 3a sin®

(2]
1 e 1 \¥3) 1 32 32

SO, - = X = o —
dx x 3a . 7w 3a
at 0== smg

fo)}
N |

Cos2x —cos22a

Evaluate: J dx . OR Evaluate:

COSX —COS &

allMaterial Dowloaded=r

3. 9 274

... (iii)

...(0)

[Using (i) & (ii)

[Diff. w.r.t. x both the sides

[By using (i)

x+2

\/x +2x+3

Let I:J% (2cos X - 1) (2cos a— 1)d

COS X — 6@BEBSE Notes, Video Tutorials, Teést Papers @@5%5&%@45




eVI d}éal‘th 1 J 2(cos® x —cos’ a) PN _ J 2(cosx —cos@)(cos x +€0s @)

COSX —COosx COSX—COosox
FREE Educatlon

_f cosx +cosa)dx =2(sinx+ xcosa)+C.

OR
x+2 1 2x+4
Let I= =
\/x +2x+3 Va2 +2x+3

2x+2

1
—_—
Va2 +2x+3 Va2 +2x+3 *

Put x> +2x+3 =t in 1" integral so, (2x+2)dx = dt

dx = =—><2\/_+J 1
\/(x+1) +(f)

dt J 1

=+

N N T
ie., I=\/x2+2x+3+logx+1+\/(x+1)2+(\/§) +C
s = xz+2x+3+10g‘x+1+\/x2+2x+3‘+C.

Q18. Evaluate : Jd—x

x(x*+3)
( 4
Sol.  Let I=J$ S .
x(x> +3) 5) x’(x”+3)
Put x° +3 =t so, 5x*dx =dt
y
N - 1L 1y
(t—3)t 5)3 [t-3 ¢t
. 1 1 5 5
ie., I—E[loglt—3|—log|tl]+C = —E[loglx | -loglx +3IJ+C
So I=110 le—ilo |x°+31+C
I I T '
0 dx
Q19. Evaluate : J. —.
o 1+e
2 dx . T ¢
Sol. LetI= j ...(0) [Using j F(x)dx = j fla—x)dx
o 1+e 0 0
2z 2z 2 sinx
= =] ax = ax_ —1I= ax .. (i)
g 1+€sm( T—X) . 1+€ sinx g smx+1
27 2z sinx
Adding (i) and (ii), 21 = . - dx
8 () and (i), 20= [ —omedes [ ey
T 2z
= 2= [1dx =20 =[x]"=27-0 >I=r.
0

—

Q20. If a= i—i+712 and b= 5§—i+/1f<, then find the value of A, so that i+b and d—b are
perpendicular vectors.

Sol.  We have ﬁzi—j+712 and B:5§—i+lf<.
B ﬁ+E:§—5+7f<+5§—]+/1f<=6f—2§+(7+/1)12
and i—b=1—]+7k—5i+j—Ak=—4i+7-2)k.
Given (d+b) L (4 —b) that implies (4 +b).(A—b)=0
- [61 — 2§+ (7 44y i naliatETiat lﬁc)kri[oaﬂ)ed from httgs/Adw.¢dByara g O
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gi e\fld}%ﬁm5 =>1=45.

e value of A is5 and -5.

F%g‘F EQH&Q%&R the lines 7 =31 + 23 - 412+/1(§ + 2} + 212) and 7 =51— 2} + ,u(3i + 2} + 61A<) are intersecting.

Sol.

Q22.

Sol.

Q23.

Hence find their point of intersection.
OR  Find the vector equation of the plane through the point (2, 1, —1) and (-1, 3, 4) and
perpendicular to the plane x -2y +4z=10.

Let the lines are / : 7 =31+ 2] — 4k+A(1+2]+2K) and I' : 7 =51 — 2]+ (31 + 2] + 6k) .
Coordinates of any random point on [/ are P(3+4,2+24,-4+21) and on [' are

Q(5+3,u7_2+2,ua61u)

If the lines / and [’ intersect then, they must have a common point on them i.e., P and Q must coincide
for some values of 4 and u.

Now, 3+A=5+3u...(1), 2+2A=-2+2u...(i)and 4+2A=6u=6u—21=—4 ...(iii)
Solving (i) and (ii), we get: A =—4, y=-2
Substituting these values in LHS of (iii), 6 4 — 24 = 6(-2) —2(—4) = -4 =RHS
So, the given lines intersect each other.
Now, point of intersection is, P(—1, -6, —12).
OR
Let the d.r.’s of normal vector to the plane be A, B, C.
Then the equation of plane through (2, 1, 1) is A(x-2)+B(y -1)+C(z+1)=0 ...(Q)
And (-1, 3, 4) lies on plane (i) so, A(-1-2)+B(3-1)+C(4+1)=0=-3A+2B+5C=0...(i1)
Also it is given that plane (i) is perpendicular to x -2y +4z =10.
So, A-2B+4C =0 ...(iii) [Using aa, +bb, +c,c, =0
B _C _A B C
8+10 5+12 6-2 18 17 4
Substituting the proportionate values of A, B and C in (i), we get :
18(x-2)+17(y-1)+4(z+1)=0 ie., 18x+17y +4z =49

". vector equation of plane is ?.(181 + 17} + 412) =49.

Solving (ii) and (iii),

The probability of two students A and B coming to the school in time are 3/7 and 5/7 respectively.
Assuming that the events, ‘A coming in time’ and ‘B coming in time’ are independent, find the
probability of only one of them coming to the school in time. Write at least one advantage of coming to
school in time.

We have, P(A) = Probability of A coming in time =

N w

and, P(B) = Probability of B coming in time = g .

Probability of only one of them coming to the school in time =P( A "B)+P(A NB)

= =P(A)P(B)+P(A)P(B)
3204 (123)2 e p(EY =
= —7(1 7j+(1 7j7 [- P(E)=1-P(E)
26
= =—.
49

Advantage of coming to school in time : Not missing the morning prayers and/or missing any topic in
first period of the class.

SECTION-C

2 2
. . . . . X
Find the area of the greatest rectangle that can be inscribed in an ellipse —-+ ]/_2 =1.
a
OR  Find the cguativional Materiaitd do it luaden veordotttp yf /wwby, vldicintpasy through the point (4/3, 0).
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&8 Vi . .y .
i. egold}fﬁfgltthhatlon of ellipse Tt =1 ..(1)

| b
FREE Egdgecaon ve the rectangle inscribed in the ellipse. Y‘
A
Let the length of the rectangle be AB = 2p, and width
be AD = 2q such that major axis intersects the sides
AD and BC at F and F' respectively.
Since A(p, q) lies on the ellipse (i) so, A(p, q)
2 2 2
P 4 2 2 |Y ..
S+l =1=q°=b"|1-5| ..(Gi o
a b a [ a’ J @
Now, area of rectangle A = (2p) (2q) (p,9C ———— D(p,—)
Le., A* =16p°q°
2 v
Assume A’ = f(p)=16p°b* (1 - p—ZJ [By using (ii) Y’
a
165 , 165 y 1657
= f(p)=— (' =p') = fp)=—(20p—4p’) and f'(p)=—(2a"-12p")
. . .. , 16b° /. , 5 a
For points of local maxima & minima, f'(p)=0= —2(2a p-4p ) =0=>p=0,p= T
a 2
2 2
f”(LJ = Q(Zcf ~-12x a—J =-64b" <0 [Value p =0 is rejected.
\/E a 2
. . a . 2. . a
is maximum at p =—= which means A" is maximum at p=—.
f(p) p \/E p \/E
Hence A is also maximum at p = % .
a’ 1
And maximum area is, A= \/16 x b xb? [1 - EJ = 2ab Sq.units .
OR  Givencurveis 3x*—y*=8  ...(i). Let the point of contact on (i) be P(x,,y,).
So, 3x] —y; =8 .(A)
Differentiating (i) w.r.t. x, 6x — Zyd—y =0 = dy _3x = dy | _3x ...(>11)
dx dx y dx |, ., Y
. ) 3
Equation of tangent at Pis: y—y, =i(x—x1) =y, (y-y,)=3x(x—-x,) ...(111)
1
As tangent (iii) passes through (4/3, 0) so,
yl(O—yl):?)xl{%—xlj = -y} =4x,—3x; = 3x] -y = 4x, ...(B)
By (A) and (B), 4x, =8 =x =2,y =2 [By replacing the value of x, =2 in (A)
Hence points of contact are (2, +2).
. equation of tangents are : 2(y—2)=3(2)(x-2)=>3x—-y =4 [By (ii1)

Q24.

Sol.

and, (-2)(y+2)=3(2)(x—2) = 3x+y=4.

Find the area of the region bounded by the parabola y =x* and y=1xI.
,ifx=0 ..

* 1. * ...(>i1)

-x, ifx<0

Curve (i) is symmetrical about y-axis since it contains even power of x.

Solving (i) and (ii), we get :

Casel:1fx>0, ﬁzdﬁcﬁtioﬁéPf\((PétTe;i)lFDanIoaded:Pré?n_-thp:9‘/\7V\1/w.evidyarthi.in/
So, points of interse@etEBSAN (s Videlq Tytorials, Test Papers & Sample Papers

Given y=x" ...(i) and, yzlxlz{




‘i' e\fid}SO poptgfx<0 ¥ =-x=x(x+1)=0 =x=0, x=-1

of intersections are (0, 0), (-1, 1).

FREE Eﬂw@m@qmred area = 2xar(OABCO)

= =2 J‘y(ﬁ)dx—jy(i)dx} Yt
Lo 0
M1 1 = x2 =lxl
= =2 J‘ledx—szdx} Y Y
L 0
1 5 :
= =2 J‘(x—x2)dx} A
Lo ; C
2 xs}l P L
S - Lo 0 1,0) "X
L 2 3 0
v
= =2 (1—1}(0—0)}
2 3

1
Required Area= 3 Sq.units .

Q25. Find the particular solution of the differential equation (tan™'y—x)dy = (1+vy°)dx, given that x=0,

y=0.
Sol.  Given (tan™'y—x)dy = (1+ y*)dx
-1
(tan Y- x) dx :>d_x+ 12 xztan 2}/
(1+y?) dy dy (1+y 1+y

It is clear that this is linear differential equation of the form Z—x +P(y)x=Q(y)
Y

1 tan”'y
Here P(y)=——, = .
ere P(y)= 1, Q) =17

dy
1+y? tan™!
Y =€an %

Integrating Factor =e¢

L " o, [ tan™
So, solution is given by, xe™" ¥ =Ieta“ ¥ LS/ dy Put tan'y =t = dy —=dt
1+y 1+y
. . d
oxe™ V= |e'tdt =xe™ Y =t|e'dt— || =—(t)| e dt |dt
j Jode-[[ L]
= xe™ Y =te' —¢' +C = xe™ ¥ = (tan ' y—1)e™ ¥ +C

Giventhat x=0, y=0, we get: 0.e™ °=(tan" 0-1)e™ *+C =C=1
So, the required solutionis: x=tan'y + e,

Q26. Find the equation of the plane passing through the line of intersection of the planes 17(1 + 3}) -6=0
and 7. (31 - 4k) 0, whose perpendicular distance from origin is unity.
OR Flnd the vector equation of the line passing through the point (1, 2, 3) and parallel to the planes
F.(i-j+2k)=5 and 7.(31 +]+K)=6.

Sol.  The equation of the plane passing through the line of intersection of the planes 17.(§ + 3}) -6=0
and 7.(31 - j—4k) =0 is 7.[(1+3]) + 231 - j—4k)] =6+ 4(0)  [Using 7.[fi, + Afi,] = d, + Ad,
ie, F[1+32)i+(B-1)]-41Kk)]-6=0 ..(0)

Now distance Of(Bdﬂ%i a}grllq io-iv;/nlifi/zijg&f)ﬁggmt%/})ww&/?)ewéi\)a]rthﬁ }<)] _6‘ _
Get CB E Notes, Video Tuto (315 Tg%jéajge(rss &23013_? Pa%jx
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FREE E

Q27.

Sol.

Q28.

Sol.

2

= - =1
WAR@R) +(3— 1) +(—41) 2627 +10
Substituting the value of A in (i), we get : 7.[4i+2]—4k]-6=0 i.e., 7.[2i+]—2K)]=3

A

and, 7.[ - 21 +4]+4k]-6=0 ie., 7.[i-2j-2k]+3=0

=A=4]1.

OR  Required line is parallel to the planes 17(; - i + 21A<) =5 and 17.(3i + } + 12) =6.

That implies, the line will be perpendicular to the normals of these planes.

A A A

i 0§k
So, line will be parallel to (1—j+2k)x(3i+j+k)=[1 -1 2|=-3i+5]+4k.
31 1

Now given point on the required line is (1, 2, 3) so, 4 = i+ 25 +3Kk.
So equation of line is : 7 =1+ 2} +3k+ 1(5§ +4k - 3i).

In a hockey match, both teams A and B scored same number of goals up to the end of the game, so to
decide the winner, the referee asked both the captains to throw a die alternatively and decided that the
team, whose captain gets a six first, will be declared the winner. If the captain of team A was asked to
start, find their respective probabilities of winning the match and state whether the decision of the
referee was fair or not.

Let A : team A is declared a winner, B : team B is declared a winner.

Let E : die shows six on the throw.

Clearly P(E) = 1/6, P(E)=1—-P(E) =1 — 1/6 = 5/6.

If captain of team A starts then he may get a six in 1% throw or 3™ throw or 5™ throw and so on.

- P(A)=PE)+P(EEE)+P(EEEEE)+...

2 4 S
O R I S R I [Using S, =———, sum of infinite GP
6 (6)6 \6)6 25 1—7
36

6
. P(A)=—
Le, PA) =47

6 5
AndP(B)=1-P(A)=1- = =2
nd P(B) (&) 11 11

The decision of referee wasn’t fair since team A has more chances of being declared a winner despite
the fact that both the teams had secured same number of goals.

A manufacturer considers that men and women workers are equally efficient and so he pays them at the
same rate. He has 30 and 17 units of workers (male and female) and capital respectively, which he uses
to produce two types of goods A and B. To produce one unit of A, 2 workers and 3 units of capital are
required while 3 workers and 1 unit of capital is required to produce one unit of B. If A and B are
priced at X100 and 120 per unit respectively, how should he use his resources to maximize the total
revenue? Form the above as an LPP and solve graphically.

Do you agree with this view of the manufacturer that men and women workers are equally efficient and
so should be paid at the same rate?

Let the number of the goods of type A and B produced be respectively x and y.

To maximize, Z = 3(100x + 120y)

Subject to the constraints:

2x+3y<30 ...(1) and, 3x+y<17 ...(i); x,y>0.
Considering the equations corresponding to the inequations (i) and (ii), we have:
2x+3y =30 3x+y=17
x 15 EdL@atlonaI Material Downloaded from ttp://Wwyvpewidyarthign/
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:i e\(’ldf}mg} lesting points as (0, 0) for (i), we have: Y 4

FREE Educaticg0)+3(0)<30=0<30, which is true.

Q29.

Sol.

Take the testing points as (0, 0) for (ii), we have:

3(0)+(0) <17 = 0 <17, which is true. 3x+y=17

The shaded region OACBO as shown in the given &
figure is the feasible region, which is bounded.

The coordinates of the corner points of the C
feasible region are A(8, 0), B(4, 12), C(0, 14)
and O(0, 0).

So, Value of Z at A(17/3, 0) =%1700/3
Value of Z at B(0, 10) =%1200

Value of Z at C(3, 8) =31260 <« - >
Value of Z at O(0, 0) = 0 0 A\ 2x+3y _\3& X

v
The maximum value of Z is ¥1260 which occurs at
x=3andy = 8.

Thus, the factory must produce 3 units and 8 units of the goods of type A and B respectively. The
maximum obtained profit earned by the factory by producing these items is I1260.

Yes, we agree with the view of manufacturer that men and women workers are equally efficient and so
should be paid at the same rate.

The management committee of a residential colony decided to award some of its members (say x) for
honesty, some (say y) for helping others and some (say z) for supervising the workers to keep the
colony neat and clean. The sum of all the awardees is 12. Three times the sum of awardees for
cooperation and supervision added to two times the number of awardees for honesty is 33. If the sum of
the number of awardees for honesty and supervision is twice the number of awardees for helping
others, using matrices find the number of awardees of each category. Apart from these values, namely,
honesty, cooperation and supervision, suggest one more value which the management of the colony
must include for awards.

Let x, y and z be the number of awardees for honesty, cooperation and supervision respectively.

Acc. to question, x+y+z=12, 3(y +z)+2x=33 i.e. 2x+3y+32=33,x+z=2y 1.e. x—2y+z=0

1 1 1jx| |12
Clearly |2 3 3| y|=|33].
1 -2 1|z 0

1 1 1 12 X
By using matrix method: A={2 3 3|,B=|33|and, X=|y|.
1 -2 1 0 z
Since AX=B = A" (AX)=A"B [Pre-multiplying by A~ both sides
~ (ATAX=AB = {X=A"'B [*IA=A=AI
=>X=A"B ..(3)
1 1 1
Now, l[Al=]2 3 3|=1(3+6)-1(2—-3)+1(-4-3)
1 21
S TAI=320 = A is non-singular and hence, it is invertible i.e., A™' exists.

Consider C;; be the cofactors of element a;; in matrix A, we have
C,=9, C,=1 Cy=-7
C,=-3 C,, =0, Cy=3

(Eduedlional Materia(Dgwniebded from httg://wwiv.evidyarthi.in/
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FREE E%%’c%‘f]fénz -3 0 3|={1 0 -1 SOAT :m(ad]A)ZE 1 0 -1
0 -1 1 -7 3 1 -7 3 1
Now by (i), we have X=A"B
9 3 0112 108-99+0] [3
So, X=l 1 0 -1}/33 = =l 12+0+0 |=|4
3_—7 3 110 3| _84+9940| |5
X 3
=|y|=|4
z 5

By equality of matrices, we have: x=3, y=4, z=5.

.". the number of awardees for honesty, cooperation and supervision respectively are 3, 4 and 5.
Another value which the management can include may be regularity and sincerity.

CBSE 2013 ALL INDIA EXAMINATION
[Set 2 With Solutions]

5 } and A” = pA, then write the value of p.

2 2012 2 2 2 8 -8 2 2
2 22 2|72 2 MEIRER:
8 -8 2p 2p . .
= = [By equality of matrices,

-8 8 -2p 2p

Lp=4.

2
Q09. Ifmatrix A= [

2 2
Sol. Given A ={ 5 } and A= PA

Q10. A and B are two points with position vectors 2a-3b and 6b-a respectively. Write the position
vector of a point P which divides the line segment AB internally in the ratio 1:2.

Sol. We have OA =23—3b and OB=6b-a.
1.OB+2.0A _1.(6b-a)+2.(2a—3b)

Since P divides AB in 1:2 internally so, OP =
1+2 1+2

i.e,a’z =a.

w
°°|sm

Q19. If x/ =¢"Y, prove that dy __ logx .
dx  (1+logx)’

Sol. Given x' =¢""7.
Taking log on both the sides, log(x") =log(e*") = ylog(x)=(x—y)log(e)=(x—y) [..loge=1

ie, y= 1 Ix = Z—y = di( 1 lx J [Differentiating w.r.t. x both the sides
+log x X x\ 1+logx
(1+log x)i(x) —x.i(l +logx) (1+logx)(1) —x.(O + 1]
= d_y — dx dx = d_y _ X
dx (1+1logx)’ dx (1+logx)*
= d_y - logx Educational Material Downloaded from http://www.evidyarthi.in/ [Hence Proved.
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Sol. Let I—j@l—x = =lj 33x3dx Put x°+8 =t = 3x*dx =dt
x(x° +8) 37 x7(x” +8)
P L R . A = =—[loglt-8I-loglt|]+C
37 (t-8)t 378 (t-8 ¢ 24
1 3
s I=—log|l——|+C.
24 gx3+8
Q21. Evaluate : IM
v 1+cos” x
Sol. LetI= IM ...(1) [Using If(x)dx =If(a—x)dx
1+cos”x 0 0
I J‘(ﬂ' x)sin(z — x)dx :J(ﬁ—x)su’;xdx :>I=I”Slnx§lx _J- xsmxzzix (i)
1+ cos® (7 —x) o l+cos”x v 1+cos”x {1+cos”x
Adding (i) and (if), 21 =7 M
v 1+cos”x

Put cosx—t:sinxdx:—dt.Alsowhen x=0=t=cosO=1and x=r=t=cosz=-1.

2 J.1+t‘ - 2 J.1+t - =%[tan'1t]_1

. T 4 1 T\ V4 T ?
ie., I=E[tan (1)—tan (—1)]:5{2—(—Zﬂ :I:(Ej.

Q22. If p=5i+4j-3k and §=i+3j—5k, then find the value of A, so that p+j and p—j are
perpendicular vectors.
Sol. Wehave p=5i+4j-3k and §=1i+3j—-5k.
So, p+4=51+1]—3k+1+3]—5k =6i +(1+3)] -8k
And, p—g=51+4]-3k—i-3]+5k=4i+(1-3)j+2k
Since p+4 and p—¢q are perpendicular vectors so, (p+q).(p—¢)=0
:{61%(/1 +3)j—812}.[4i+(/1—3)j+212] =0 = 24+(1*-9)-16=0
=1%=1 =>A=41.
Q28. Find the area of the region {(x,y):y*> <6ax and x* +y° <164} using method of integration.
Sol.  We have {(x,v):y”> <6ax and x* +y* <16a’}.
Consider y*> =6ax  ..(1), x*+y”>=16a" ...(ii)
Curve (ii) represents a circle centered at (0, 0) having radius of 4a.
Solving (i) and (ii), x* +6ax—16a> =0 = (x+8a)(x—2a)=0
. x=2a and x =—-8a[which isrejected, as it doesn’t satisfy (1)]

So, x=2a, y= +2f 3a and point of intersections are (24,+ 2\/_ 3a) }" A(2a. 2 \/5
Now required area =2 x ar(OAPMO) 2, .2 - y

, Xty =
a 4a
= = 2{ _[ Y,dx +_[ y(ﬁ)dx}

0 2a

-
= =2{x/6_aTx/;dx+T1/(4a)z—x2dx} \O

Educational Material Downloaded from http://www.evidyarthi.in
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4a
= =§ 6a[(2a)3/2—03/2]+{x«/(4a)2—x2+16a2sin141}

aZa

= =§\/a\/z(2a)4{(4ax0+16a2 sinl(l))—[Zaxz\/Eaeraz Sinléﬂ
-7 %@@Qa) + {1&12 (%j - (4«/§a2 +16a° (%m

N :16\/§a2+ 87[612_4\/§a2_8_7[a2
3 3
2

Q29. Show that the differential equation {xsin2 [zj - y}dx+ xdy =0 is homogeneous. Find the particular
X

solution of this differential equation, given that y = % when x=1.

X dx

Put x=kx & y=ky in (i), f(kx,ky)z—k—lx[kxsin2 (:—yj—ky}zko [—%{xsinz (%)—yDzkof(x,y)

X

Sol.  We have {xsin2 [ij - y}daﬁ xdy =0 = ay = —%[x sin’ (%} - y} = f(x,y) (say)...(1)

So, it is clear that the given diff. eq. is homogenous diff. eq. of degree 0.

Now, let ¥y =vx in (1). So, Z—y=v+x@
X

dx
dv 1 . o vx dv . 2
S U+X—=——|xsin”| — |—ovx =U+X—=-sin"v+v
dx  x x dx
:—jcoseczvdvzjd—x = cotv =loglx|+C :cot(zjzlogleC.
X X
Since given that yz% when x=1 so, cot%zlogllHC =C=1

. required solution is Cot[lj =loglx|+1.
x

CBSE 2013 ALL INDIA EXAMINATION
[Set 3 With Solutions]

3 -3
Q09. If matrix A =[ 3 3 } and A= 1 A, then write the value of 4.

3 -3
Sol. Given A ={ 3 3 } and A =1A

3 3|3 -3 3 -3 18 -18 3 -3
=4 = =1
-3 3|3 3 -3 3 -18 18 -3 3
18 —18 34 =34
[By equality of matrices,
-18 18 du?zﬁilon&ﬂw terial Downloaded from http://www.evidyarthi.in/
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QVM}WM are two points with position vectors 2a—b and d+2b respectively. Write the position
T wvector of a

point N which divides the line segment LM in the ratio 1:2 externally.
FRHE EQRAHRRTOL = 23 - and OM =+ 2b.
Since N divides LM in 2:1 externally so, ON = %

ie, OP=5b.

=2(a+2b)-1.(2a-b)

Q19. Using vectors, find the area of the triangle ABC, whose vertices are A(1,2,3), B(2,—1,4) and C(4,5,—-1).

Sol.  Given vertices of A ABC are A(1,2,3), B(2,—1,4) and C(4,5,-1).
So, AB=OB-0A =(2i-]j+4k)—(1+2]+3k)=1-3j+k and,
AC=0C-0A =(4i +5]—k)— (i +2j+3k)=3i + 3] -4k

i j k
Now ABxAC=[1 -3 1|=9i+7j+12k =I ABx AC| =9 +7% +12* =274
3 3 4

ar(ABC) = % | ABxAC | = %\/274 Sq.units .

Q20. Evaluate : Ii—x
x(x”+1)
2
Sol. Let I='|.$ = =1J‘% Put x° +1=1t=> 3x’dx =dt
x(x”+1) 39 x°(x" +1)
. 1 dt 1 1 1 1
e, l==|—— = =—|| ———|dt = =—|loglt—1l-logltl|+C
v 3I(t—1)t 3 [t—1 tj 3108 og!!]
1 3
~I==lo +C.
3% x’+1
s 22
Q21. If xsin(a+y)+sinacos(a+y) =0, prove that dy = M .
dx sina
Sol.  Given xsin(a+y)+sinacos(a+y)=0 = x =-sin aw
sin(a+y)
Le., ax =—sinax a4 w [Differentiating w.r.t. y both the sides
dy dy  sin(a +y)
sin(a+ y);(cos(a + y)) —cos(a+ y);(sin(a + y))
= —=-sinax Y - 5 Y
dy [sin(a+ y)]
. . 22 2
N dx — singx —sin(a+y)sin(a+ y) —cos(a+y)cos(a+y) _ sing x| S0 (a-i-.y) + cos 2(a +y)
dy [sin(a+y)) [sin(a+ y)]
=2
= —=sinax———— d_y = w. [Hence Proved.
dy sin®*(a+y) dx sina

3x —x+y —x+z
Q22. Using properties of determinants, prove that [x—y 3y z—y |=3(x+y+z)(xy +yz+2zx).
X-z Y-z 3z
3x —x+y -x+z
Sol. LHS:Let A=ix-y 3y z-y [Applying C, - C, +C, +C,
X—-z Y-z 3z
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=x+y+z 3y z=y [Taking x+y+z common from C,

FREE Educatlon

x+y+z Y-z 3z

1 —x+y -x+z
= =(x+y+z)1 3y z—y [Applying R, > R, -R,,R, > R, - R,
1 y-z 3z
0 —x+z —-x-2z
= =(x+y+2)0 2y+z 2z-y [Expanding along C,
1 y-z 3z
—xX+z —-x-2z
= =(x+y+z)| 1x
2y+z —2z-y
= = (x+y+2)((-x+2)(2z-y) -2y +2)(-x - 22))
= =(x+y +2z)(3xy +3yz+3zx)
= =3(x+y+z)(xy+yz+zx)=RHS. [Hence Proved.

Q28. Find the area of the region {(x,y): y* <4x and 4x” + 4y* <9} using method of integration.
Sol.  We have {(x,y):y* <4x and 4x* +4y* <9}.
2
Consider y*=4x L), AP +4yP =9 X4yt = (%) .. (i)

Curve (ii) represents a circle centered at (0, 0) having radius of 3/2 units.
Solving (i) and (ii), 4x>+4(4x)=9 =4x*+16x-9=0 = (2x+9)(2x-1)=0

LX= % and x = —% [which is rejected, as it doesn’t satisfy (i)]

So, x= % , Y= J_r\/E and point of intersections are (%,iﬁj . Y
Now required area =2 x ar(OAPMO)

172 3/2
= —2|:J.y dx+Iy dx}

1/2

4x* +4y*=9

[ 1/2 3/2 2 h O
= =2 ZI xdx+j ( J—xzdx
1/2
¥

3/2

1/2

= - E{lﬁan%riﬁﬂ_]d‘ti _ciﬂnlpa?d@q)g‘drﬂ_gtgq[ﬁﬁ%g.gvidyarthi.in/
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ai Q&K‘!}F&a‘ tlla particular solution of the differential equation Z—x +xcoty =2y +y’ coty, (y #0), given that
. Y
FREE Education

x =0 when y:E.

Sol.  We have Z—x+xcoty=2y+y2 coty, (y#0)
Y

It is clear that this is linear differential equation of the form Z—x +P(y)x=Q(y)
Y

Here P(y)=coty, Q(y)=2y+y’coty .

Icotyd}/ logsiny

Integrating Factor =e¢ =e =siny.

So, solution is given by, xsiny = _[siny (Zy +y° coty)dy
= xsiny = IZy sinydy + I y* cosydy [Applying By parts in 2" integral

= xsiny = IZysinydy+ yz_[cosydy—_[(%(yz)jcos ydyj dy

:>xsiny=_|.2ysiny¢7ly+y2 siny—_[Zysinydy = xsiny=y’siny+C
2 2

Given that x =0 when yzz,we get : 0sinZ=|Z | sinZ+C —c=""
2 2 2 2 4

2
So, the required solution is : xsiny = y*siny + % ie., 4x—y*)siny=7x"
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